Problem B

Wild sequence


Source file: wild.c, wild.cc, wild.pas

Problem

Set M is given by the following definition:
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After sorting elements of the set M we get “Wild sequence” 
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. The first seven terms of the sequence are:

a0 = 1

a1 = 3

a2 = 7

a3 = 9

a4 = 13

a5 = 15

a6 = 19

Input

The input consists of several input lines. Each line contains just one integer k (0 ( k ( 10000). The last input line contains –1.

Output

There should be one line of output for each input line (except the last one containing –1) consisting of the value of ak (k-th term of the wild sequence).

Sample input

8

3

-1

Sample output

31

9
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